
Relations Inverses (A)
Remplissez les espaces blancs.

21 × 24 = 504 13 × 12 = 156 23 × 19 = 437 10 × 22 = 220
24 × ___ = 504 12 × ___ = 156 19 × 23 = ___ 22 × 10 = ___
___ ÷ 24 = 21 ___ ÷ 12 = 13 ___ ÷ 19 = 23 220 ÷ 22 = ___
___ ÷ 21 = 24 ___ ÷ 13 = 12 437 ÷ 23 = ___ 220 ÷ ___ = 22

12 × 21 = 252 11 × 24 = 264 13 × 12 = 156 12 × 23 = 276
21 × 12 = ___ 24 × 11 = ___ 12 × ___ = 156 23 × ___ = 276
___ ÷ 21 = 12 ___ ÷ 24 = 11 156 ÷ ___ = 13 276 ÷ ___ = 12
252 ÷ ___ = 21 264 ÷ ___ = 24 156 ÷ ___ = 12 276 ÷ 12 = ___

16 × 15 = 240 22 × 19 = 418 22 × 22 = 484 22 × 17 = 374
___ × 16 = 240 19 × ___ = 418 22 × 22 = ___ 17 × ___ = 374
240 ÷ 15 = ___ ___ ÷ 19 = 22 ___ ÷ 22 = 22 ___ ÷ 17 = 22
___ ÷ 16 = 15 ___ ÷ 22 = 19 484 ÷ ___ = 22 ___ ÷ 22 = 17

21 × 17 = 357 11 × 20 = 220 19 × 18 = 342 25 × 17 = 425
17 × 21 = ___ ___ × 11 = 220 18 × 19 = ___ 17 × 25 = ___
___ ÷ 17 = 21 220 ÷ 20 = ___ 342 ÷ 18 = ___ 425 ÷ ___ = 25
___ ÷ 21 = 17 220 ÷ 11 = ___ 342 ÷ ___ = 18 425 ÷ 25 = ___

22 × 23 = 506 11 × 14 = 154 14 × 17 = 238 18 × 20 = 360
23 × 22 = ___ 14 × ___ = 154 ___ × 14 = 238 20 × 18 = ___
506 ÷ 23 = ___ 154 ÷ ___ = 11 238 ÷ ___ = 14 360 ÷ ___ = 18
___ ÷ 22 = 23 154 ÷ 11 = ___ 238 ÷ 14 = ___ 360 ÷ ___ = 20
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Relations Inverses (A) Solutions
Remplissez les espaces blancs.

21 × 24 = 504 13 × 12 = 156 23 × 19 = 437 10 × 22 = 220
24 × _21_ = 504 12 × _13_ = 156 19 × 23 = _437_ 22 × 10 = _220_
_504_ ÷ 24 = 21 _156_ ÷ 12 = 13 _437_ ÷ 19 = 23 220 ÷ 22 = _10_
_504_ ÷ 21 = 24 _156_ ÷ 13 = 12 437 ÷ 23 = _19_ 220 ÷ _10_ = 22

12 × 21 = 252 11 × 24 = 264 13 × 12 = 156 12 × 23 = 276
21 × 12 = _252_ 24 × 11 = _264_ 12 × _13_ = 156 23 × _12_ = 276
_252_ ÷ 21 = 12 _264_ ÷ 24 = 11 156 ÷ _12_ = 13 276 ÷ _23_ = 12
252 ÷ _12_ = 21 264 ÷ _11_ = 24 156 ÷ _13_ = 12 276 ÷ 12 = _23_

16 × 15 = 240 22 × 19 = 418 22 × 22 = 484 22 × 17 = 374
_15_ × 16 = 240 19 × _22_ = 418 22 × 22 = _484_ 17 × _22_ = 374
240 ÷ 15 = _16_ _418_ ÷ 19 = 22 _484_ ÷ 22 = 22 _374_ ÷ 17 = 22
_240_ ÷ 16 = 15 _418_ ÷ 22 = 19 484 ÷ _22_ = 22 _374_ ÷ 22 = 17

21 × 17 = 357 11 × 20 = 220 19 × 18 = 342 25 × 17 = 425
17 × 21 = _357_ _20_ × 11 = 220 18 × 19 = _342_ 17 × 25 = _425_
_357_ ÷ 17 = 21 220 ÷ 20 = _11_ 342 ÷ 18 = _19_ 425 ÷ _17_ = 25
_357_ ÷ 21 = 17 220 ÷ 11 = _20_ 342 ÷ _19_ = 18 425 ÷ 25 = _17_

22 × 23 = 506 11 × 14 = 154 14 × 17 = 238 18 × 20 = 360
23 × 22 = _506_ 14 × _11_ = 154 _17_ × 14 = 238 20 × 18 = _360_
506 ÷ 23 = _22_ 154 ÷ _14_ = 11 238 ÷ _17_ = 14 360 ÷ _20_ = 18
_506_ ÷ 22 = 23 154 ÷ 11 = _14_ 238 ÷ 14 = _17_ 360 ÷ _18_ = 20
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Relations Inverses (B)
Remplissez les espaces blancs.

10 × 21 = 210 23 × 13 = 299 19 × 10 = 190 24 × 11 = 264
21 × ___ = 210 13 × ___ = 299 10 × 19 = ___ 11 × 24 = ___
___ ÷ 21 = 10 299 ÷ 13 = ___ 190 ÷ 10 = ___ ___ ÷ 11 = 24
___ ÷ 10 = 21 ___ ÷ 23 = 13 190 ÷ 19 = ___ 264 ÷ 24 = ___

24 × 12 = 288 24 × 11 = 264 21 × 22 = 462 10 × 15 = 150
12 × ___ = 288 ___ × 24 = 264 22 × ___ = 462 15 × ___ = 150
288 ÷ ___ = 24 264 ÷ ___ = 24 462 ÷ 22 = ___ 150 ÷ ___ = 10
288 ÷ 24 = ___ 264 ÷ 24 = ___ 462 ÷ ___ = 22 150 ÷ ___ = 15

10 × 25 = 250 24 × 17 = 408 13 × 23 = 299 18 × 12 = 216
25 × ___ = 250 17 × 24 = ___ ___ × 13 = 299 ___ × 18 = 216
250 ÷ ___ = 10 ___ ÷ 17 = 24 ___ ÷ 23 = 13 216 ÷ ___ = 18
___ ÷ 10 = 25 408 ÷ 24 = ___ 299 ÷ 13 = ___ 216 ÷ ___ = 12

23 × 22 = 506 18 × 12 = 216 10 × 10 = 100 14 × 15 = 210
___ × 23 = 506 12 × 18 = ___ 10 × 10 = ___ 15 × ___ = 210
506 ÷ 22 = ___ 216 ÷ 12 = ___ 100 ÷ ___ = 10 ___ ÷ 15 = 14
506 ÷ ___ = 22 ___ ÷ 18 = 12 100 ÷ ___ = 10 210 ÷ 14 = ___

16 × 20 = 320 13 × 23 = 299 22 × 16 = 352 17 × 16 = 272
___ × 16 = 320 ___ × 13 = 299 16 × ___ = 352 16 × 17 = ___
320 ÷ 20 = ___ 299 ÷ 23 = ___ ___ ÷ 16 = 22 ___ ÷ 16 = 17
320 ÷ 16 = ___ ___ ÷ 13 = 23 352 ÷ ___ = 16 272 ÷ 17 = ___
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Relations Inverses (B) Solutions
Remplissez les espaces blancs.

10 × 21 = 210 23 × 13 = 299 19 × 10 = 190 24 × 11 = 264
21 × _10_ = 210 13 × _23_ = 299 10 × 19 = _190_ 11 × 24 = _264_
_210_ ÷ 21 = 10 299 ÷ 13 = _23_ 190 ÷ 10 = _19_ _264_ ÷ 11 = 24
_210_ ÷ 10 = 21 _299_ ÷ 23 = 13 190 ÷ 19 = _10_ 264 ÷ 24 = _11_

24 × 12 = 288 24 × 11 = 264 21 × 22 = 462 10 × 15 = 150
12 × _24_ = 288 _11_ × 24 = 264 22 × _21_ = 462 15 × _10_ = 150
288 ÷ _12_ = 24 264 ÷ _11_ = 24 462 ÷ 22 = _21_ 150 ÷ _15_ = 10
288 ÷ 24 = _12_ 264 ÷ 24 = _11_ 462 ÷ _21_ = 22 150 ÷ _10_ = 15

10 × 25 = 250 24 × 17 = 408 13 × 23 = 299 18 × 12 = 216
25 × _10_ = 250 17 × 24 = _408_ _23_ × 13 = 299 _12_ × 18 = 216
250 ÷ _25_ = 10 _408_ ÷ 17 = 24 _299_ ÷ 23 = 13 216 ÷ _12_ = 18
_250_ ÷ 10 = 25 408 ÷ 24 = _17_ 299 ÷ 13 = _23_ 216 ÷ _18_ = 12

23 × 22 = 506 18 × 12 = 216 10 × 10 = 100 14 × 15 = 210
_22_ × 23 = 506 12 × 18 = _216_ 10 × 10 = _100_ 15 × _14_ = 210
506 ÷ 22 = _23_ 216 ÷ 12 = _18_ 100 ÷ _10_ = 10 _210_ ÷ 15 = 14
506 ÷ _23_ = 22 _216_ ÷ 18 = 12 100 ÷ _10_ = 10 210 ÷ 14 = _15_

16 × 20 = 320 13 × 23 = 299 22 × 16 = 352 17 × 16 = 272
_20_ × 16 = 320 _23_ × 13 = 299 16 × _22_ = 352 16 × 17 = _272_
320 ÷ 20 = _16_ 299 ÷ 23 = _13_ _352_ ÷ 16 = 22 _272_ ÷ 16 = 17
320 ÷ 16 = _20_ _299_ ÷ 13 = 23 352 ÷ _22_ = 16 272 ÷ 17 = _16_
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Relations Inverses (C)
Remplissez les espaces blancs.

25 × 24 = 600 20 × 10 = 200 13 × 22 = 286 25 × 23 = 575
___ × 25 = 600 10 × ___ = 200 22 × ___ = 286 23 × 25 = ___
___ ÷ 24 = 25 200 ÷ ___ = 20 286 ÷ 22 = ___ 575 ÷ 23 = ___
600 ÷ 25 = ___ ___ ÷ 20 = 10 286 ÷ 13 = ___ ___ ÷ 25 = 23

15 × 23 = 345 22 × 13 = 286 11 × 24 = 264 16 × 20 = 320
23 × ___ = 345 13 × 22 = ___ 24 × ___ = 264 20 × 16 = ___
345 ÷ ___ = 15 ___ ÷ 13 = 22 264 ÷ ___ = 11 ___ ÷ 20 = 16
345 ÷ 15 = ___ 286 ÷ 22 = ___ 264 ÷ 11 = ___ ___ ÷ 16 = 20

10 × 14 = 140 21 × 16 = 336 22 × 14 = 308 17 × 19 = 323
14 × ___ = 140 16 × ___ = 336 ___ × 22 = 308 19 × 17 = ___
___ ÷ 14 = 10 336 ÷ 16 = ___ ___ ÷ 14 = 22 323 ÷ ___ = 17
___ ÷ 10 = 14 ___ ÷ 21 = 16 ___ ÷ 22 = 14 323 ÷ ___ = 19

21 × 25 = 525 17 × 22 = 374 14 × 23 = 322 14 × 20 = 280
___ × 21 = 525 22 × 17 = ___ 23 × 14 = ___ 20 × ___ = 280
525 ÷ 25 = ___ ___ ÷ 22 = 17 322 ÷ 23 = ___ ___ ÷ 20 = 14
525 ÷ 21 = ___ 374 ÷ 17 = ___ 322 ÷ 14 = ___ ___ ÷ 14 = 20

15 × 15 = 225 18 × 16 = 288 14 × 14 = 196 11 × 20 = 220
15 × 15 = ___ 16 × ___ = 288 14 × 14 = ___ 20 × 11 = ___
225 ÷ ___ = 15 288 ÷ ___ = 18 196 ÷ 14 = ___ 220 ÷ 20 = ___
___ ÷ 15 = 15 ___ ÷ 18 = 16 196 ÷ 14 = ___ ___ ÷ 11 = 20
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Relations Inverses (C) Solutions
Remplissez les espaces blancs.

25 × 24 = 600 20 × 10 = 200 13 × 22 = 286 25 × 23 = 575
_24_ × 25 = 600 10 × _20_ = 200 22 × _13_ = 286 23 × 25 = _575_
_600_ ÷ 24 = 25 200 ÷ _10_ = 20 286 ÷ 22 = _13_ 575 ÷ 23 = _25_
600 ÷ 25 = _24_ _200_ ÷ 20 = 10 286 ÷ 13 = _22_ _575_ ÷ 25 = 23

15 × 23 = 345 22 × 13 = 286 11 × 24 = 264 16 × 20 = 320
23 × _15_ = 345 13 × 22 = _286_ 24 × _11_ = 264 20 × 16 = _320_
345 ÷ _23_ = 15 _286_ ÷ 13 = 22 264 ÷ _24_ = 11 _320_ ÷ 20 = 16
345 ÷ 15 = _23_ 286 ÷ 22 = _13_ 264 ÷ 11 = _24_ _320_ ÷ 16 = 20

10 × 14 = 140 21 × 16 = 336 22 × 14 = 308 17 × 19 = 323
14 × _10_ = 140 16 × _21_ = 336 _14_ × 22 = 308 19 × 17 = _323_
_140_ ÷ 14 = 10 336 ÷ 16 = _21_ _308_ ÷ 14 = 22 323 ÷ _19_ = 17
_140_ ÷ 10 = 14 _336_ ÷ 21 = 16 _308_ ÷ 22 = 14 323 ÷ _17_ = 19

21 × 25 = 525 17 × 22 = 374 14 × 23 = 322 14 × 20 = 280
_25_ × 21 = 525 22 × 17 = _374_ 23 × 14 = _322_ 20 × _14_ = 280
525 ÷ 25 = _21_ _374_ ÷ 22 = 17 322 ÷ 23 = _14_ _280_ ÷ 20 = 14
525 ÷ 21 = _25_ 374 ÷ 17 = _22_ 322 ÷ 14 = _23_ _280_ ÷ 14 = 20

15 × 15 = 225 18 × 16 = 288 14 × 14 = 196 11 × 20 = 220
15 × 15 = _225_ 16 × _18_ = 288 14 × 14 = _196_ 20 × 11 = _220_
225 ÷ _15_ = 15 288 ÷ _16_ = 18 196 ÷ 14 = _14_ 220 ÷ 20 = _11_
_225_ ÷ 15 = 15 _288_ ÷ 18 = 16 196 ÷ 14 = _14_ _220_ ÷ 11 = 20
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Relations Inverses (D)
Remplissez les espaces blancs.

22 × 14 = 308 15 × 14 = 210 25 × 20 = 500 18 × 24 = 432
___ × 22 = 308 ___ × 15 = 210 ___ × 25 = 500 24 × ___ = 432
308 ÷ 14 = ___ 210 ÷ 14 = ___ 500 ÷ 20 = ___ 432 ÷ ___ = 18
___ ÷ 22 = 14 210 ÷ 15 = ___ ___ ÷ 25 = 20 432 ÷ ___ = 24

13 × 23 = 299 22 × 24 = 528 10 × 21 = 210 20 × 17 = 340
23 × 13 = ___ 24 × ___ = 528 21 × ___ = 210 ___ × 20 = 340
299 ÷ ___ = 13 ___ ÷ 24 = 22 210 ÷ 21 = ___ 340 ÷ 17 = ___
299 ÷ ___ = 23 528 ÷ 22 = ___ ___ ÷ 10 = 21 ___ ÷ 20 = 17

17 × 20 = 340 10 × 18 = 180 19 × 23 = 437 15 × 24 = 360
20 × ___ = 340 18 × 10 = ___ ___ × 19 = 437 24 × 15 = ___
340 ÷ 20 = ___ ___ ÷ 18 = 10 437 ÷ ___ = 19 ___ ÷ 24 = 15
340 ÷ ___ = 20 ___ ÷ 10 = 18 ___ ÷ 19 = 23 360 ÷ ___ = 24

11 × 14 = 154 15 × 14 = 210 17 × 24 = 408 10 × 16 = 160
14 × ___ = 154 14 × ___ = 210 ___ × 17 = 408 16 × 10 = ___
154 ÷ 14 = ___ 210 ÷ 14 = ___ 408 ÷ ___ = 17 ___ ÷ 16 = 10
___ ÷ 11 = 14 210 ÷ ___ = 14 408 ÷ ___ = 24 ___ ÷ 10 = 16

20 × 18 = 360 16 × 18 = 288 25 × 17 = 425 20 × 16 = 320
18 × 20 = ___ 18 × ___ = 288 ___ × 25 = 425 16 × 20 = ___
360 ÷ 18 = ___ 288 ÷ 18 = ___ 425 ÷ ___ = 25 ___ ÷ 16 = 20
___ ÷ 20 = 18 288 ÷ 16 = ___ ___ ÷ 25 = 17 ___ ÷ 20 = 16
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Relations Inverses (D) Solutions
Remplissez les espaces blancs.

22 × 14 = 308 15 × 14 = 210 25 × 20 = 500 18 × 24 = 432
_14_ × 22 = 308 _14_ × 15 = 210 _20_ × 25 = 500 24 × _18_ = 432
308 ÷ 14 = _22_ 210 ÷ 14 = _15_ 500 ÷ 20 = _25_ 432 ÷ _24_ = 18
_308_ ÷ 22 = 14 210 ÷ 15 = _14_ _500_ ÷ 25 = 20 432 ÷ _18_ = 24

13 × 23 = 299 22 × 24 = 528 10 × 21 = 210 20 × 17 = 340
23 × 13 = _299_ 24 × _22_ = 528 21 × _10_ = 210 _17_ × 20 = 340
299 ÷ _23_ = 13 _528_ ÷ 24 = 22 210 ÷ 21 = _10_ 340 ÷ 17 = _20_
299 ÷ _13_ = 23 528 ÷ 22 = _24_ _210_ ÷ 10 = 21 _340_ ÷ 20 = 17

17 × 20 = 340 10 × 18 = 180 19 × 23 = 437 15 × 24 = 360
20 × _17_ = 340 18 × 10 = _180_ _23_ × 19 = 437 24 × 15 = _360_
340 ÷ 20 = _17_ _180_ ÷ 18 = 10 437 ÷ _23_ = 19 _360_ ÷ 24 = 15
340 ÷ _17_ = 20 _180_ ÷ 10 = 18 _437_ ÷ 19 = 23 360 ÷ _15_ = 24

11 × 14 = 154 15 × 14 = 210 17 × 24 = 408 10 × 16 = 160
14 × _11_ = 154 14 × _15_ = 210 _24_ × 17 = 408 16 × 10 = _160_
154 ÷ 14 = _11_ 210 ÷ 14 = _15_ 408 ÷ _24_ = 17 _160_ ÷ 16 = 10
_154_ ÷ 11 = 14 210 ÷ _15_ = 14 408 ÷ _17_ = 24 _160_ ÷ 10 = 16

20 × 18 = 360 16 × 18 = 288 25 × 17 = 425 20 × 16 = 320
18 × 20 = _360_ 18 × _16_ = 288 _17_ × 25 = 425 16 × 20 = _320_
360 ÷ 18 = _20_ 288 ÷ 18 = _16_ 425 ÷ _17_ = 25 _320_ ÷ 16 = 20
_360_ ÷ 20 = 18 288 ÷ 16 = _18_ _425_ ÷ 25 = 17 _320_ ÷ 20 = 16
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Relations Inverses (E)
Remplissez les espaces blancs.

21 × 21 = 441 11 × 10 = 110 15 × 16 = 240 24 × 17 = 408
21 × 21 = ___ 10 × 11 = ___ ___ × 15 = 240 17 × ___ = 408
___ ÷ 21 = 21 ___ ÷ 10 = 11 240 ÷ ___ = 15 408 ÷ ___ = 24
441 ÷ ___ = 21 ___ ÷ 11 = 10 240 ÷ ___ = 16 408 ÷ ___ = 17

11 × 17 = 187 12 × 23 = 276 15 × 21 = 315 14 × 22 = 308
17 × ___ = 187 23 × ___ = 276 21 × 15 = ___ 22 × 14 = ___
187 ÷ 17 = ___ 276 ÷ 23 = ___ 315 ÷ ___ = 15 ___ ÷ 22 = 14
___ ÷ 11 = 17 276 ÷ 12 = ___ 315 ÷ 15 = ___ 308 ÷ ___ = 22

22 × 18 = 396 16 × 18 = 288 17 × 22 = 374 17 × 13 = 221
18 × ___ = 396 ___ × 16 = 288 22 × ___ = 374 13 × ___ = 221
___ ÷ 18 = 22 288 ÷ 18 = ___ 374 ÷ ___ = 17 221 ÷ 13 = ___
396 ÷ ___ = 18 ___ ÷ 16 = 18 ___ ÷ 17 = 22 221 ÷ 17 = ___

25 × 17 = 425 13 × 19 = 247 23 × 20 = 460 25 × 19 = 475
___ × 25 = 425 19 × 13 = ___ 20 × 23 = ___ ___ × 25 = 475
425 ÷ ___ = 25 247 ÷ 19 = ___ ___ ÷ 20 = 23 475 ÷ 19 = ___
425 ÷ ___ = 17 ___ ÷ 13 = 19 ___ ÷ 23 = 20 475 ÷ ___ = 19

18 × 14 = 252 11 × 10 = 110 11 × 20 = 220 10 × 16 = 160
14 × ___ = 252 10 × ___ = 110 20 × ___ = 220 ___ × 10 = 160
252 ÷ ___ = 18 110 ÷ ___ = 11 ___ ÷ 20 = 11 160 ÷ 16 = ___
252 ÷ 18 = ___ ___ ÷ 11 = 10 220 ÷ 11 = ___ ___ ÷ 10 = 16
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Relations Inverses (E) Solutions
Remplissez les espaces blancs.

21 × 21 = 441 11 × 10 = 110 15 × 16 = 240 24 × 17 = 408
21 × 21 = _441_ 10 × 11 = _110_ _16_ × 15 = 240 17 × _24_ = 408
_441_ ÷ 21 = 21 _110_ ÷ 10 = 11 240 ÷ _16_ = 15 408 ÷ _17_ = 24
441 ÷ _21_ = 21 _110_ ÷ 11 = 10 240 ÷ _15_ = 16 408 ÷ _24_ = 17

11 × 17 = 187 12 × 23 = 276 15 × 21 = 315 14 × 22 = 308
17 × _11_ = 187 23 × _12_ = 276 21 × 15 = _315_ 22 × 14 = _308_
187 ÷ 17 = _11_ 276 ÷ 23 = _12_ 315 ÷ _21_ = 15 _308_ ÷ 22 = 14
_187_ ÷ 11 = 17 276 ÷ 12 = _23_ 315 ÷ 15 = _21_ 308 ÷ _14_ = 22

22 × 18 = 396 16 × 18 = 288 17 × 22 = 374 17 × 13 = 221
18 × _22_ = 396 _18_ × 16 = 288 22 × _17_ = 374 13 × _17_ = 221
_396_ ÷ 18 = 22 288 ÷ 18 = _16_ 374 ÷ _22_ = 17 221 ÷ 13 = _17_
396 ÷ _22_ = 18 _288_ ÷ 16 = 18 _374_ ÷ 17 = 22 221 ÷ 17 = _13_

25 × 17 = 425 13 × 19 = 247 23 × 20 = 460 25 × 19 = 475
_17_ × 25 = 425 19 × 13 = _247_ 20 × 23 = _460_ _19_ × 25 = 475
425 ÷ _17_ = 25 247 ÷ 19 = _13_ _460_ ÷ 20 = 23 475 ÷ 19 = _25_
425 ÷ _25_ = 17 _247_ ÷ 13 = 19 _460_ ÷ 23 = 20 475 ÷ _25_ = 19

18 × 14 = 252 11 × 10 = 110 11 × 20 = 220 10 × 16 = 160
14 × _18_ = 252 10 × _11_ = 110 20 × _11_ = 220 _16_ × 10 = 160
252 ÷ _14_ = 18 110 ÷ _10_ = 11 _220_ ÷ 20 = 11 160 ÷ 16 = _10_
252 ÷ 18 = _14_ _110_ ÷ 11 = 10 220 ÷ 11 = _20_ _160_ ÷ 10 = 16
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Relations Inverses (F)
Remplissez les espaces blancs.

15 × 19 = 285 23 × 10 = 230 24 × 14 = 336 17 × 13 = 221
19 × ___ = 285 10 × 23 = ___ ___ × 24 = 336 13 × 17 = ___
285 ÷ ___ = 15 230 ÷ ___ = 23 ___ ÷ 14 = 24 221 ÷ 13 = ___
285 ÷ 15 = ___ ___ ÷ 23 = 10 336 ÷ ___ = 14 221 ÷ 17 = ___

21 × 23 = 483 17 × 19 = 323 10 × 22 = 220 19 × 24 = 456
23 × 21 = ___ 19 × 17 = ___ 22 × 10 = ___ 24 × 19 = ___
___ ÷ 23 = 21 ___ ÷ 19 = 17 ___ ÷ 22 = 10 ___ ÷ 24 = 19
483 ÷ 21 = ___ 323 ÷ 17 = ___ 220 ÷ ___ = 22 456 ÷ 19 = ___

10 × 25 = 250 23 × 19 = 437 18 × 19 = 342 10 × 13 = 130
25 × ___ = 250 ___ × 23 = 437 ___ × 18 = 342 ___ × 10 = 130
___ ÷ 25 = 10 437 ÷ ___ = 23 ___ ÷ 19 = 18 130 ÷ 13 = ___
250 ÷ 10 = ___ ___ ÷ 23 = 19 ___ ÷ 18 = 19 130 ÷ ___ = 13

18 × 16 = 288 20 × 25 = 500 17 × 13 = 221 15 × 19 = 285
___ × 18 = 288 ___ × 20 = 500 ___ × 17 = 221 19 × 15 = ___
288 ÷ ___ = 18 500 ÷ 25 = ___ 221 ÷ ___ = 17 ___ ÷ 19 = 15
___ ÷ 18 = 16 500 ÷ 20 = ___ 221 ÷ 17 = ___ ___ ÷ 15 = 19

12 × 20 = 240 22 × 14 = 308 19 × 16 = 304 16 × 17 = 272
___ × 12 = 240 ___ × 22 = 308 16 × 19 = ___ ___ × 16 = 272
240 ÷ ___ = 12 308 ÷ 14 = ___ ___ ÷ 16 = 19 ___ ÷ 17 = 16
___ ÷ 12 = 20 308 ÷ ___ = 14 304 ÷ ___ = 16 ___ ÷ 16 = 17
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Relations Inverses (F) Solutions
Remplissez les espaces blancs.

15 × 19 = 285 23 × 10 = 230 24 × 14 = 336 17 × 13 = 221
19 × _15_ = 285 10 × 23 = _230_ _14_ × 24 = 336 13 × 17 = _221_
285 ÷ _19_ = 15 230 ÷ _10_ = 23 _336_ ÷ 14 = 24 221 ÷ 13 = _17_
285 ÷ 15 = _19_ _230_ ÷ 23 = 10 336 ÷ _24_ = 14 221 ÷ 17 = _13_

21 × 23 = 483 17 × 19 = 323 10 × 22 = 220 19 × 24 = 456
23 × 21 = _483_ 19 × 17 = _323_ 22 × 10 = _220_ 24 × 19 = _456_
_483_ ÷ 23 = 21 _323_ ÷ 19 = 17 _220_ ÷ 22 = 10 _456_ ÷ 24 = 19
483 ÷ 21 = _23_ 323 ÷ 17 = _19_ 220 ÷ _10_ = 22 456 ÷ 19 = _24_

10 × 25 = 250 23 × 19 = 437 18 × 19 = 342 10 × 13 = 130
25 × _10_ = 250 _19_ × 23 = 437 _19_ × 18 = 342 _13_ × 10 = 130
_250_ ÷ 25 = 10 437 ÷ _19_ = 23 _342_ ÷ 19 = 18 130 ÷ 13 = _10_
250 ÷ 10 = _25_ _437_ ÷ 23 = 19 _342_ ÷ 18 = 19 130 ÷ _10_ = 13

18 × 16 = 288 20 × 25 = 500 17 × 13 = 221 15 × 19 = 285
_16_ × 18 = 288 _25_ × 20 = 500 _13_ × 17 = 221 19 × 15 = _285_
288 ÷ _16_ = 18 500 ÷ 25 = _20_ 221 ÷ _13_ = 17 _285_ ÷ 19 = 15
_288_ ÷ 18 = 16 500 ÷ 20 = _25_ 221 ÷ 17 = _13_ _285_ ÷ 15 = 19

12 × 20 = 240 22 × 14 = 308 19 × 16 = 304 16 × 17 = 272
_20_ × 12 = 240 _14_ × 22 = 308 16 × 19 = _304_ _17_ × 16 = 272
240 ÷ _20_ = 12 308 ÷ 14 = _22_ _304_ ÷ 16 = 19 _272_ ÷ 17 = 16
_240_ ÷ 12 = 20 308 ÷ _22_ = 14 304 ÷ _19_ = 16 _272_ ÷ 16 = 17
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Relations Inverses (G)
Remplissez les espaces blancs.

13 × 21 = 273 24 × 15 = 360 11 × 17 = 187 23 × 22 = 506
___ × 13 = 273 15 × ___ = 360 ___ × 11 = 187 22 × 23 = ___
___ ÷ 21 = 13 360 ÷ ___ = 24 187 ÷ 17 = ___ 506 ÷ ___ = 23
273 ÷ 13 = ___ 360 ÷ ___ = 15 187 ÷ 11 = ___ 506 ÷ 23 = ___

15 × 19 = 285 20 × 23 = 460 19 × 25 = 475 23 × 15 = 345
19 × ___ = 285 23 × ___ = 460 25 × 19 = ___ ___ × 23 = 345
285 ÷ 19 = ___ ___ ÷ 23 = 20 475 ÷ ___ = 19 ___ ÷ 15 = 23
285 ÷ ___ = 19 460 ÷ 20 = ___ 475 ÷ ___ = 25 345 ÷ ___ = 15

11 × 19 = 209 17 × 20 = 340 17 × 12 = 204 22 × 25 = 550
___ × 11 = 209 20 × ___ = 340 ___ × 17 = 204 ___ × 22 = 550
209 ÷ ___ = 11 ___ ÷ 20 = 17 ___ ÷ 12 = 17 ___ ÷ 25 = 22
209 ÷ 11 = ___ 340 ÷ ___ = 20 204 ÷ 17 = ___ 550 ÷ ___ = 25

24 × 25 = 600 14 × 18 = 252 13 × 15 = 195 23 × 21 = 483
25 × ___ = 600 ___ × 14 = 252 15 × ___ = 195 21 × 23 = ___
___ ÷ 25 = 24 252 ÷ 18 = ___ 195 ÷ ___ = 13 483 ÷ 21 = ___
600 ÷ 24 = ___ 252 ÷ ___ = 18 195 ÷ 13 = ___ 483 ÷ 23 = ___

20 × 20 = 400 23 × 17 = 391 15 × 15 = 225 13 × 12 = 156
20 × 20 = ___ 17 × ___ = 391 15 × ___ = 225 ___ × 13 = 156
400 ÷ 20 = ___ ___ ÷ 17 = 23 ___ ÷ 15 = 15 156 ÷ 12 = ___
400 ÷ ___ = 20 391 ÷ ___ = 17 225 ÷ 15 = ___ 156 ÷ ___ = 12
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Relations Inverses (G) Solutions
Remplissez les espaces blancs.

13 × 21 = 273 24 × 15 = 360 11 × 17 = 187 23 × 22 = 506
_21_ × 13 = 273 15 × _24_ = 360 _17_ × 11 = 187 22 × 23 = _506_
_273_ ÷ 21 = 13 360 ÷ _15_ = 24 187 ÷ 17 = _11_ 506 ÷ _22_ = 23
273 ÷ 13 = _21_ 360 ÷ _24_ = 15 187 ÷ 11 = _17_ 506 ÷ 23 = _22_

15 × 19 = 285 20 × 23 = 460 19 × 25 = 475 23 × 15 = 345
19 × _15_ = 285 23 × _20_ = 460 25 × 19 = _475_ _15_ × 23 = 345
285 ÷ 19 = _15_ _460_ ÷ 23 = 20 475 ÷ _25_ = 19 _345_ ÷ 15 = 23
285 ÷ _15_ = 19 460 ÷ 20 = _23_ 475 ÷ _19_ = 25 345 ÷ _23_ = 15

11 × 19 = 209 17 × 20 = 340 17 × 12 = 204 22 × 25 = 550
_19_ × 11 = 209 20 × _17_ = 340 _12_ × 17 = 204 _25_ × 22 = 550
209 ÷ _19_ = 11 _340_ ÷ 20 = 17 _204_ ÷ 12 = 17 _550_ ÷ 25 = 22
209 ÷ 11 = _19_ 340 ÷ _17_ = 20 204 ÷ 17 = _12_ 550 ÷ _22_ = 25

24 × 25 = 600 14 × 18 = 252 13 × 15 = 195 23 × 21 = 483
25 × _24_ = 600 _18_ × 14 = 252 15 × _13_ = 195 21 × 23 = _483_
_600_ ÷ 25 = 24 252 ÷ 18 = _14_ 195 ÷ _15_ = 13 483 ÷ 21 = _23_
600 ÷ 24 = _25_ 252 ÷ _14_ = 18 195 ÷ 13 = _15_ 483 ÷ 23 = _21_

20 × 20 = 400 23 × 17 = 391 15 × 15 = 225 13 × 12 = 156
20 × 20 = _400_ 17 × _23_ = 391 15 × _15_ = 225 _12_ × 13 = 156
400 ÷ 20 = _20_ _391_ ÷ 17 = 23 _225_ ÷ 15 = 15 156 ÷ 12 = _13_
400 ÷ _20_ = 20 391 ÷ _23_ = 17 225 ÷ 15 = _15_ 156 ÷ _13_ = 12
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Relations Inverses (H)
Remplissez les espaces blancs.

25 × 19 = 475 13 × 23 = 299 18 × 22 = 396 18 × 13 = 234
19 × ___ = 475 ___ × 13 = 299 22 × 18 = ___ 13 × 18 = ___
___ ÷ 19 = 25 ___ ÷ 23 = 13 ___ ÷ 22 = 18 234 ÷ 13 = ___
475 ÷ ___ = 19 299 ÷ ___ = 23 396 ÷ ___ = 22 234 ÷ ___ = 13

17 × 22 = 374 25 × 15 = 375 12 × 20 = 240 25 × 25 = 625
___ × 17 = 374 ___ × 25 = 375 20 × ___ = 240 25 × ___ = 625
374 ÷ 22 = ___ 375 ÷ ___ = 25 240 ÷ 20 = ___ 625 ÷ ___ = 25
374 ÷ ___ = 22 375 ÷ 25 = ___ 240 ÷ ___ = 20 ___ ÷ 25 = 25

14 × 20 = 280 17 × 22 = 374 16 × 13 = 208 14 × 23 = 322
20 × 14 = ___ 22 × ___ = 374 13 × 16 = ___ ___ × 14 = 322
280 ÷ 20 = ___ 374 ÷ 22 = ___ 208 ÷ 13 = ___ 322 ÷ ___ = 14
___ ÷ 14 = 20 374 ÷ 17 = ___ 208 ÷ 16 = ___ 322 ÷ ___ = 23

10 × 18 = 180 11 × 15 = 165 10 × 23 = 230 19 × 22 = 418
___ × 10 = 180 15 × ___ = 165 ___ × 10 = 230 22 × 19 = ___
180 ÷ 18 = ___ 165 ÷ ___ = 11 230 ÷ ___ = 10 418 ÷ ___ = 19
180 ÷ 10 = ___ 165 ÷ ___ = 15 ___ ÷ 10 = 23 418 ÷ 19 = ___

23 × 24 = 552 12 × 15 = 180 19 × 24 = 456 19 × 22 = 418
___ × 23 = 552 15 × ___ = 180 24 × ___ = 456 22 × 19 = ___
552 ÷ ___ = 23 180 ÷ ___ = 12 456 ÷ 24 = ___ 418 ÷ 22 = ___
552 ÷ ___ = 24 180 ÷ 12 = ___ ___ ÷ 19 = 24 ___ ÷ 19 = 22
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Relations Inverses (H) Solutions
Remplissez les espaces blancs.

25 × 19 = 475 13 × 23 = 299 18 × 22 = 396 18 × 13 = 234
19 × _25_ = 475 _23_ × 13 = 299 22 × 18 = _396_ 13 × 18 = _234_
_475_ ÷ 19 = 25 _299_ ÷ 23 = 13 _396_ ÷ 22 = 18 234 ÷ 13 = _18_
475 ÷ _25_ = 19 299 ÷ _13_ = 23 396 ÷ _18_ = 22 234 ÷ _18_ = 13

17 × 22 = 374 25 × 15 = 375 12 × 20 = 240 25 × 25 = 625
_22_ × 17 = 374 _15_ × 25 = 375 20 × _12_ = 240 25 × _25_ = 625
374 ÷ 22 = _17_ 375 ÷ _15_ = 25 240 ÷ 20 = _12_ 625 ÷ _25_ = 25
374 ÷ _17_ = 22 375 ÷ 25 = _15_ 240 ÷ _12_ = 20 _625_ ÷ 25 = 25

14 × 20 = 280 17 × 22 = 374 16 × 13 = 208 14 × 23 = 322
20 × 14 = _280_ 22 × _17_ = 374 13 × 16 = _208_ _23_ × 14 = 322
280 ÷ 20 = _14_ 374 ÷ 22 = _17_ 208 ÷ 13 = _16_ 322 ÷ _23_ = 14
_280_ ÷ 14 = 20 374 ÷ 17 = _22_ 208 ÷ 16 = _13_ 322 ÷ _14_ = 23

10 × 18 = 180 11 × 15 = 165 10 × 23 = 230 19 × 22 = 418
_18_ × 10 = 180 15 × _11_ = 165 _23_ × 10 = 230 22 × 19 = _418_
180 ÷ 18 = _10_ 165 ÷ _15_ = 11 230 ÷ _23_ = 10 418 ÷ _22_ = 19
180 ÷ 10 = _18_ 165 ÷ _11_ = 15 _230_ ÷ 10 = 23 418 ÷ 19 = _22_

23 × 24 = 552 12 × 15 = 180 19 × 24 = 456 19 × 22 = 418
_24_ × 23 = 552 15 × _12_ = 180 24 × _19_ = 456 22 × 19 = _418_
552 ÷ _24_ = 23 180 ÷ _15_ = 12 456 ÷ 24 = _19_ 418 ÷ 22 = _19_
552 ÷ _23_ = 24 180 ÷ 12 = _15_ _456_ ÷ 19 = 24 _418_ ÷ 19 = 22
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Relations Inverses (I)
Remplissez les espaces blancs.

15 × 25 = 375 14 × 18 = 252 13 × 11 = 143 19 × 23 = 437
25 × 15 = ___ ___ × 14 = 252 ___ × 13 = 143 23 × 19 = ___
___ ÷ 25 = 15 252 ÷ 18 = ___ 143 ÷ 11 = ___ 437 ÷ 23 = ___
___ ÷ 15 = 25 252 ÷ ___ = 18 143 ÷ ___ = 11 437 ÷ 19 = ___

15 × 13 = 195 11 × 11 = 121 16 × 18 = 288 10 × 18 = 180
13 × ___ = 195 11 × 11 = ___ 18 × 16 = ___ ___ × 10 = 180
195 ÷ ___ = 15 ___ ÷ 11 = 11 288 ÷ 18 = ___ 180 ÷ ___ = 10
___ ÷ 15 = 13 ___ ÷ 11 = 11 288 ÷ ___ = 18 180 ÷ ___ = 18

12 × 13 = 156 12 × 17 = 204 24 × 22 = 528 17 × 22 = 374
13 × 12 = ___ ___ × 12 = 204 22 × 24 = ___ ___ × 17 = 374
156 ÷ ___ = 12 204 ÷ 17 = ___ 528 ÷ ___ = 24 374 ÷ ___ = 17
156 ÷ ___ = 13 204 ÷ 12 = ___ ___ ÷ 24 = 22 374 ÷ ___ = 22

21 × 20 = 420 22 × 11 = 242 20 × 22 = 440 25 × 23 = 575
20 × 21 = ___ ___ × 22 = 242 22 × 20 = ___ 23 × ___ = 575
___ ÷ 20 = 21 242 ÷ ___ = 22 ___ ÷ 22 = 20 575 ÷ 23 = ___
420 ÷ 21 = ___ 242 ÷ ___ = 11 ___ ÷ 20 = 22 575 ÷ 25 = ___

11 × 17 = 187 20 × 10 = 200 11 × 23 = 253 11 × 16 = 176
___ × 11 = 187 10 × 20 = ___ 23 × ___ = 253 16 × 11 = ___
187 ÷ 17 = ___ ___ ÷ 10 = 20 253 ÷ 23 = ___ 176 ÷ ___ = 11
187 ÷ ___ = 17 ___ ÷ 20 = 10 253 ÷ ___ = 23 176 ÷ 11 = ___
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Relations Inverses (I) Solutions
Remplissez les espaces blancs.

15 × 25 = 375 14 × 18 = 252 13 × 11 = 143 19 × 23 = 437
25 × 15 = _375_ _18_ × 14 = 252 _11_ × 13 = 143 23 × 19 = _437_
_375_ ÷ 25 = 15 252 ÷ 18 = _14_ 143 ÷ 11 = _13_ 437 ÷ 23 = _19_
_375_ ÷ 15 = 25 252 ÷ _14_ = 18 143 ÷ _13_ = 11 437 ÷ 19 = _23_

15 × 13 = 195 11 × 11 = 121 16 × 18 = 288 10 × 18 = 180
13 × _15_ = 195 11 × 11 = _121_ 18 × 16 = _288_ _18_ × 10 = 180
195 ÷ _13_ = 15 _121_ ÷ 11 = 11 288 ÷ 18 = _16_ 180 ÷ _18_ = 10
_195_ ÷ 15 = 13 _121_ ÷ 11 = 11 288 ÷ _16_ = 18 180 ÷ _10_ = 18

12 × 13 = 156 12 × 17 = 204 24 × 22 = 528 17 × 22 = 374
13 × 12 = _156_ _17_ × 12 = 204 22 × 24 = _528_ _22_ × 17 = 374
156 ÷ _13_ = 12 204 ÷ 17 = _12_ 528 ÷ _22_ = 24 374 ÷ _22_ = 17
156 ÷ _12_ = 13 204 ÷ 12 = _17_ _528_ ÷ 24 = 22 374 ÷ _17_ = 22

21 × 20 = 420 22 × 11 = 242 20 × 22 = 440 25 × 23 = 575
20 × 21 = _420_ _11_ × 22 = 242 22 × 20 = _440_ 23 × _25_ = 575
_420_ ÷ 20 = 21 242 ÷ _11_ = 22 _440_ ÷ 22 = 20 575 ÷ 23 = _25_
420 ÷ 21 = _20_ 242 ÷ _22_ = 11 _440_ ÷ 20 = 22 575 ÷ 25 = _23_

11 × 17 = 187 20 × 10 = 200 11 × 23 = 253 11 × 16 = 176
_17_ × 11 = 187 10 × 20 = _200_ 23 × _11_ = 253 16 × 11 = _176_
187 ÷ 17 = _11_ _200_ ÷ 10 = 20 253 ÷ 23 = _11_ 176 ÷ _16_ = 11
187 ÷ _11_ = 17 _200_ ÷ 20 = 10 253 ÷ _11_ = 23 176 ÷ 11 = _16_
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Relations Inverses (J)
Remplissez les espaces blancs.

12 × 14 = 168 12 × 17 = 204 12 × 13 = 156 25 × 14 = 350
14 × 12 = ___ ___ × 12 = 204 ___ × 12 = 156 14 × ___ = 350
168 ÷ ___ = 12 204 ÷ ___ = 12 ___ ÷ 13 = 12 350 ÷ 14 = ___
___ ÷ 12 = 14 ___ ÷ 12 = 17 ___ ÷ 12 = 13 350 ÷ 25 = ___

17 × 14 = 238 22 × 12 = 264 16 × 17 = 272 25 × 21 = 525
14 × ___ = 238 12 × 22 = ___ 17 × ___ = 272 21 × 25 = ___
___ ÷ 14 = 17 264 ÷ 12 = ___ ___ ÷ 17 = 16 525 ÷ ___ = 25
___ ÷ 17 = 14 264 ÷ 22 = ___ 272 ÷ 16 = ___ 525 ÷ 25 = ___

21 × 20 = 420 22 × 11 = 242 13 × 15 = 195 25 × 21 = 525
20 × 21 = ___ ___ × 22 = 242 15 × 13 = ___ 21 × 25 = ___
420 ÷ 20 = ___ 242 ÷ 11 = ___ ___ ÷ 15 = 13 525 ÷ 21 = ___
420 ÷ 21 = ___ 242 ÷ ___ = 11 195 ÷ 13 = ___ 525 ÷ 25 = ___

17 × 22 = 374 16 × 20 = 320 18 × 25 = 450 24 × 19 = 456
___ × 17 = 374 ___ × 16 = 320 25 × ___ = 450 ___ × 24 = 456
374 ÷ ___ = 17 320 ÷ ___ = 16 450 ÷ ___ = 18 456 ÷ ___ = 24
___ ÷ 17 = 22 320 ÷ 16 = ___ 450 ÷ 18 = ___ 456 ÷ ___ = 19

23 × 17 = 391 14 × 11 = 154 24 × 15 = 360 15 × 15 = 225
17 × 23 = ___ ___ × 14 = 154 15 × 24 = ___ 15 × 15 = ___
___ ÷ 17 = 23 154 ÷ ___ = 14 360 ÷ 15 = ___ 225 ÷ 15 = ___
391 ÷ ___ = 17 154 ÷ 14 = ___ 360 ÷ ___ = 15 ___ ÷ 15 = 15
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Relations Inverses (J) Solutions
Remplissez les espaces blancs.

12 × 14 = 168 12 × 17 = 204 12 × 13 = 156 25 × 14 = 350
14 × 12 = _168_ _17_ × 12 = 204 _13_ × 12 = 156 14 × _25_ = 350
168 ÷ _14_ = 12 204 ÷ _17_ = 12 _156_ ÷ 13 = 12 350 ÷ 14 = _25_
_168_ ÷ 12 = 14 _204_ ÷ 12 = 17 _156_ ÷ 12 = 13 350 ÷ 25 = _14_

17 × 14 = 238 22 × 12 = 264 16 × 17 = 272 25 × 21 = 525
14 × _17_ = 238 12 × 22 = _264_ 17 × _16_ = 272 21 × 25 = _525_
_238_ ÷ 14 = 17 264 ÷ 12 = _22_ _272_ ÷ 17 = 16 525 ÷ _21_ = 25
_238_ ÷ 17 = 14 264 ÷ 22 = _12_ 272 ÷ 16 = _17_ 525 ÷ 25 = _21_

21 × 20 = 420 22 × 11 = 242 13 × 15 = 195 25 × 21 = 525
20 × 21 = _420_ _11_ × 22 = 242 15 × 13 = _195_ 21 × 25 = _525_
420 ÷ 20 = _21_ 242 ÷ 11 = _22_ _195_ ÷ 15 = 13 525 ÷ 21 = _25_
420 ÷ 21 = _20_ 242 ÷ _22_ = 11 195 ÷ 13 = _15_ 525 ÷ 25 = _21_

17 × 22 = 374 16 × 20 = 320 18 × 25 = 450 24 × 19 = 456
_22_ × 17 = 374 _20_ × 16 = 320 25 × _18_ = 450 _19_ × 24 = 456
374 ÷ _22_ = 17 320 ÷ _20_ = 16 450 ÷ _25_ = 18 456 ÷ _19_ = 24
_374_ ÷ 17 = 22 320 ÷ 16 = _20_ 450 ÷ 18 = _25_ 456 ÷ _24_ = 19

23 × 17 = 391 14 × 11 = 154 24 × 15 = 360 15 × 15 = 225
17 × 23 = _391_ _11_ × 14 = 154 15 × 24 = _360_ 15 × 15 = _225_
_391_ ÷ 17 = 23 154 ÷ _11_ = 14 360 ÷ 15 = _24_ 225 ÷ 15 = _15_
391 ÷ _23_ = 17 154 ÷ 14 = _11_ 360 ÷ _24_ = 15 _225_ ÷ 15 = 15
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